INSTALLATION
INSTRUCTIONS

|
" Read the installation instructions carefully to avoid damaging the

vehicle or the competitive bar !!!




(=1

23,M10X240--1

4. M10x70--1

Pin--1

1. M12X35--8 2. M12X35--8

Eye bolt M12--2

MADE IN CHINA






